E=
i

1 HAVSI)TA7S |EEBEH 1 | 1|0 | 2
2 FA] SRE 60.4 2 | 2 1
3 BB ITYITF— =ABE 54.6 3| 4 3
4 | 1 |(WFEFPVH |HRESZ 48.6 4 | 3 5
5 L—079L77 ) | BIIE 470 | 7 | 6 4
6 AN)54FA EAITEA 45.5 8 | 7 8
7 BT NI7>70 | BREBAIE 45.0 6 | 8 7
8 S—TFTA—ADh |[WMHESFE 5 | B 6
Bl 27— R PANY [HiA—i ' 9 | o 9

4 ¥340 eI 4-7-9 ¥430

34  4-7 ¥260 E 4-7-9 ¥1,980




[
1l

1 UAYS BFEHEIT 1|10 |1
2 JIWN—RA1> b |BIRES 56.5 3| 3 5
3 TWb2ab5— |ERE 53.1 4 |5 4
4 MIADS—Y— |EREN 52.8 2 | 2 2
5 BN IM3YRSA7R (LR ERE 45.7 5| 4 6
6 FrIyInovr4 |(EEKEFEA 44.3 6 | 8 HUH
7 | 1 (YINJyb FEIRETE 425 | 7 | 7
8 | 5 |Y1M0bvT  |WARE s | 6

A=

8 ¥120 E 4-5-8 ¥7,690

E 4-8 ¥250 E 8-4-5 ¥9,900




E=
i
=

1 UZVFZAUHL> | EHENT 1 1 © 1
2 F179%7b ARET] 64.2 2 | 2 2
3 N85+ )74 =2) = hl) 50.6 4 | 3 6
4 | D PAMIRT-S  |EIE 489 | 3 | 4 4
5 | 1 |[A3A04F)> HREEZ 47.3 5|5 5
6 | 5 |[AUYFSZA WER4E | 432 | 6 | 6 3
7 UJ—-LANKNLE |#EREFE 42.2 7 | 7 T
a'ﬁxb NPX—O  |BEEBALY | 8 | 8 8

=&
s I ¥140 E 5T ¥850
o 2-7 ¥130 g 7-2-5 ¥1,710




E=
i
=

1 AVI—AT—Y |BERRE 2 |3 4
2 JYRIN——4 |BiRE:Y 1| 2| 0o | 2
3 INS—7F £ R aiE s 1
4 | 5 |[PNZ>PMII ARES 4 | 4 3
5 | y3—F EHEN 5 | 5 7
6 | 1 |3IVE H)IE 6 | 8 8
7 147 3Y+— AR 7 | 6 5
194:—?”?4’#‘ WA —D 8 | 7 6
=&
B % 7 ¥730 Qe3:L: 3-5-7 ¥3,010
=z EX ¥1,460 31 7-3-5 ¥21,960




-
-

£

I

E=
i
=

JyYIk—0O RATRA 1| 2| 0| 6
mWE WL SRE 59.8 2 1 2
EYYAT—-F |BHENT 53.4 3|3 4
HZ75> i EE 53.1 | 4 | 4 8
re—_ R E 51.6 5| 6 5
(S—TA—AXTV |EXE 45.0 6 | 5 3
HIINE 40.5 7 | 7 1
RINEAE 8 | 8 7

=&
3 ¥5,770 G b 3-5-8 ¥20,840
E 3-5 ¥11,190 E 3-5-8 ¥263,870




=]
1}
—

1 R—21) HAERF KX 1| 1|0 |5
2 =TL>bhOox BRHEBEIT 59.8 i i 1
3 5L L% 52.0 4 | 4 4
4 AL3374YT | EAREE 51.7 5|5 7
5 | 1 (NF1avIA—-L |RIE 51.6 3 | 2 2
6 | o eOMYIFFvY |BREPKIH 43.0 | 6 | 6 3
7 | 5 [NOY320T—-X 8 | 8 6
8 wIEIF T A— P | P 8
=&
8 ¥600 E 1-6-8 ¥6,060
E 1-8 ¥1,120 E 8-1-6 ¥34,520




|

|
L
=]
1}
—

1 5 L2Vl 1 | 9 | o HHE
2 ¥>)75F= WmAE—D 2 | 1 1
3 7I14ZM)— = =4 52.7 C 3
4 JAEETT BIEREX 51.1 4 | 3 5
5 | 5 |VIAPYT EXsEa 49.6 5| 4 4
6 | 1 |(9UA-I33T5 |ERE 43.7 6 | 5 7
7 t¥oJUJ3 ERRRE 43.2 | 7 | 7 6
8 | ol |ENJ9eoNT |EINE 419 |8 | 6 2
9 7y7U195>y |BRES 1820 o | 8 8
=&

EHA% 4 ¥130 QEEELE 4-8-9 ¥1,030
=3t 4-9 ¥2,030 [e3tL:] 4-9-8 ¥4,760




|

|
il
|
Il
—

1 IAT49) BHEN 1|1 2
2 J7IT 599 =14 60.8 2 | 4 5
3|5 |[Lykd—-3 ENEn 583 | 3 | 2 4
4 R TVY yN bt 48.1 4 | 6 3
5 6 PP WE—D 45.7 G 1
6 ANl ERERE 42.7 6 | 7 6
7 pEOAL FVIC EI=V X 39.¢ 8 | 8 8
8 1 |ANANIA—1D EAR8E 7 5 7

IhN=E

EHA 6 ¥690 [Eel:: 4-6-7 ¥2,080

=z IEX ¥500 [e3tL] 6-7-4 ¥13,430




=]
1}
—

1 TUARYS BEHET 1 |1 5
Bl 6 PEVIVZRVERPN L = 2 | 2 6
L o e g i ElEm 55.3 3| 3 2
4 F—HROEIYE @ 55.0 4 | 5 1
5 A3/ YL | EARE 43.6 5 | 7 7
6 IM/3>Yk5—-1 |ZERaE 41.2 6 | 4 4
7 | 1 (YI5hVTIYR (HREBEZ 7 | 8 8
8 | 5 |FYP_AEODF |KFREE 8 | 6 3
=&
8 ¥1,470 E 4-5-8 ¥9,040
E 4-8 ¥1,730 E 8-4-5 ¥40,680




|

|
L
=]
1}
—

1 NI3="A5—  |RIE 1 1 1
2 LR WLI4-1 AIHE 61.6 2 | 2 7
3 J1-l7L—9 |EDEN 53.4 4 | 4 2
4 D0 Kykos)Ky  @Es4E | 517 | 3 | 5 8
5 SvO—7 BHEN 47.0 51| 3 3
6 IHIN54T | KIREE 45.9 6 | 6 6
7 IS99 HAEFE 43.8 | 8 | 8 5
8 P—t>5Evh  |mELLk 41.9 F | P 4
9 AY— M — N l o | o 9

¥240 [e:L: 2-3-7 ¥1,000

¥580 33EH 7-3-2 ¥3,590




E=
i
=

1 JAF—) EiXIgEa — 1
2 A — ERERE 57.4 3 1 2
3 DA EA307—H |hlERES— 54.6 2 | 3 5
4 [ Az F-v  |HIE 505 | 5 | 7 7
5 —ARYEORY—  |BIERX 49.8 | 4 | 4 3
6 | 5 |ENF-N BRHEBET 43.9 6 | 5 4
7 | 1 |73- &R 433 | 7 | 6 8
Eﬂﬂbl?}iﬁb SABe | 8 | 8 6
IN=E
2 ¥380 : 2-4-7 ¥980
: 2-7 ¥500 : 2-7-4 ¥5,780




